1y

-

A

TR

|t
I
)

3)

=~
B S
i

T ) Z

=

A

:_ Decreasing: (—oo, =1

x-intercepts at x =—1 — \/5, -1+ \/_2-
y-intercept at y=-2

Critical point at: x=-1

Increasing: (—1, oo)

Decreasing: (—oo, —1)

No inflection points exist.

Concave up: (—00, w)

Concave down: No intervals exist.
Relative minimum: (—1, —4)

No relative maxima.

x-intercepts at x=0, 3
y-intercept at y=0

No vertical asymptotes exist.
No horizontal asymptotes exist.
Critical points at: x=0,2
Increasing: (0, 2)

Decreasing: (—no, 0), (2, oo)
Inflection point at: x=1
Concave up: (—eo, 1
Concave down: (1, oo)
Relative minimum: (0, 0)
Relative maximum: (2, 4)

x-intercepts at x = O) t iz
y-intercept at y= 0O

No vertical asymptotes exist.
No horizontal asymptotes exist.

Critical points at: x= 12—
Increasing: (— 2/ 2}
Decreasing: ( —-053 ’2) ( 2) @3

Inflection pointat: } = ©

Concave up: ( -, 0)

Concave down: ( o UO>

Relative minimum: ( ’Z/ ,32)

Relative maximum: (2 323
¥

x-intercepts at x=-1, 1
y-intercept at y=1

No vertical asymptotes exist.
No horizontal asymptotes exist.
Critical points at: x=-1,0, 1
Increasing: (-1, 0), (1,(09)
0,1
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Inflection points at: x = —

[ P) 2
Concave up: —ao,—T,

Concave down: (— —33' ’—3)
0

Relative minima: (-1, 0
Relative maximum: (0,

2)

Answers to Curve Sketching Worksheet (ID: 1)

3)} Y No x-intercepts.
y-intercept at y=-3
- Critical point at: x=-1
gl Increasing: (——oo, —1)
A Decreasing: (—l, oo)
y No inflection points exist.
- > Concave up: No intervals exist.
-8 -6 4 12 2 4
Q * Concave down: (oo, »)
. No relative minina.
/ =3 \ Relative maximum: (-l, =)
I =0 i
s
y
4 " x-intercepts at x =0, |
T y-intercept at y=0
4 I No vertical asymptotes exist.
4 / No horizontal asymptotes exist.
.. . 1
2 / Critical points at: x=§, 1
3 g ‘ 1
8 -6 ¢ _2_ 8 X Increasing: (—m, ;), (1, )
[, 0
]‘ Decreasing: 5, 1
N N 2
Y=g Inflection point at: x=—
\ 3
5]
Concave up: ;’ 0
2
Concave down: —00,3
Relative minimum: (l, 0)
2 : 1 4
Relative maximum: | —, ——)
327
SA Y | x-intercepts at x=-2,0
T y-intercept at y=0
Y] l No vertical asymptotes exist.
=l / No horizontal asymptotes exist.
L. . 4
2 / Critical points at: x= —;, 0
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X Increasing: (—oo, ——:—), (0, )

; 4
Decreasing: |- ;, 0

. . 2

Inflection point at: x = —5
Concave up: (— %, oo)

) 2
Concave down: —w,—;
Relative minimum: (0, 0)

Relative maximum: —i, 3——)
3 81

No x-intercepts.

. 1
y-intercept at y=—

(S8

cnheg!

Increasing: (-, 2), (2, »)
Decreasing: No intervals exist.

" No inflection points exist.
Concave up: (—w, 2)
Concave down: (2, oo)
No relative minima.

No relative maxima.

o< x=2



x-intercept at x=10
y-intercept at y=0

Vertical asymptote at: x = -1
Horizontal asymptote at: f=2

Increasing: (—oo, —-l), (—1, oo)
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> Decreasing: No intervals exist.
* No inflection points exist.
Concave up: (-, -1)
Concave down: (—], co)

No relative minima.

No relative maxima.

criitafpt at x= -



